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Challenging Problems-I Properties of Operators
Q.1 The set AUBUC)N (AN B NC) NnC isequal to
(A) BNnC (B) AnC (C) Bul (D) ANnC

Q.2 The set (A N B’) U (B N C) is equal to
(A) AuBuC (B) AAUB () A"l (D) A°nB

Q.3 If A and B are two sets, then A N (A U B) equals
(A) A (B) B <€) ¢ (D) AnB
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Challenging Problems-I Properties of Operators
Q.4 If X and Y are two sets and X’ denotes the complement of X, then X " (X LU Y)
is equal to

(A) X B) Y (C) ¢ (D) XNnY
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Q.1

Q.2

Q.3

Challenging Problems-Ii Subsets & Power Set

'Giventhat N= {1, 2, 3, ..., 100}, then

(1) Write the subset A of N, whose element are odd numbers.
(i) Write the subset B of N, whose element are represented by x + 2, where x € N.

Two finite sets have m and n elements respectively. The total number of
subsets of first set is 56 more than the total number of subsets of the second set. The
values of m and n respectively are.

(A) 7,6 (B) 5,1 (C) 6,3 (D) 8,7

If X and Y are two sets and X’ denotes the complement of X, then X Nn (X U Y)’
isequal to

(A) X (B) Y ) o (D) XNY
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Q.5

Challenging Problems-I| Subsets & Power Set
Q.4 IfX={8-Tn-1lne N}and Y ={49n - 49 | n € N}. Then

(A) XcY B) YcX () X=Y% D) XNnY=¢

If n[P(A)] = 8,n[P(B)] = 4 then max. number of elements in

P(ANB)is

(A) O (B) 2 (C) 4 (D) 8

Q.6

Q.7

State true or false
P(A—-B) =P(A) — P(B)
State true or false

P(AUB) = P(4) UP(B)
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Challenging Problems-I| Subsets & Power Set

Q.8 If total number of proper subsets of set A is 63 than find n(A4).

Q.9 IfA=1{0,1,2, 3,4} find number of all the subsets of set A,

has two or more elements.

Q.10 Isn(AnB) = 2 than find n[P(A) N P(B)] and n[P(A N B)]

which



